AP Physics – Electric Fields Quiz
1. What is probably the most significant difference between the electromagnetic force and the gravitational force?

2. Find the force between charges of +180.0 (C and -175.0 (C.  They are 11.5 cm apart.   
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Three charges are arranged as shown.  What is the magnitude and direction of the force acting on the -315 (C charge by the other two charges?
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Direction:     
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4. An electron is fired into the midpoint of a field between two charged plates.  The initial velocity of the electron is 1.25 x 106 m/s.  The plates are a distance of 1.80 mm apart.  The (V for the plates is 85.0 V.  Determine where the electron will hit on the upper plate.
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Exerts upward force:
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Acceleration:
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